Transformation (cogeometry) (HKMO Classified Questions by topics)
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Suppose P(a, b) is a point on the straight line x — y + 1 = 0 such that the sum of
the distance between P and the point 4(1,0) and the distance between P and the
point B(3,0) is the least, find the value of a + b .
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The coordinates of point P on the plane is (-3, 4). After rotating 45° clockwise
about the centre (0, 0) and reflecting along the y-axis, the point P reaches the point
O=(x,y).If z=x+y, find the value of z .
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In the coordinate plane, the points 4 = (-6, 2), B = (-3, 3), C=(0, n) and

D = (m, 0) form a quadrilateral ABCD. Find the value of n so that the perimeter
of the quadrilateral ABCD is the least.
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On the coordinate plane, the points A(3, 7) and B(8, 14) are reflected about the
line y = kx + ¢, where k and ¢ are constants, their images are C(5, 5) and

D(12,10) respectively. If R =§ , find the value of R .

2008 FG1.1

e T g b= 8 00,0)~ 412,2) 2 B(0,8) c AOAB %5 & ¥ y=6 1%
F 51 APOR © # AOAB 2 APQR € 384 chg ffAm T > H > »

Fem ehig o

Given that there are three points on the coordinate plane: O(0, 0), A(12, 2) and
B(0, 8). A reflection of AOAB along the straight line y = 6 creates APQR. If the
overlapped area of AOAB and APQR is m square units, find the value of m .
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In the coordinate plane, rotate point A(6, 8) about the origin O(0, 0) counter-
clockwise for 20070° to point B(p, g). Find the value of p + g.
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In Figure 1, ABCD is a square. The coordinates of ?
B and D are (5, —1) and (-3, 3) respectively.
If A(a, b) lies in the first quadrant,

find the value of a + b. 0/>x
B
Figure 1
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The coordinates of P are (\/§+ 1,\/§+ 1). Pis
rotated 60° anticlockwise about the origin to Q. QO

is then reflected along the y-axis to R. Find the
value of PR*. 0
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